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1101[XK1E EE 12 12 12 0 1 0 216 0 0 0 0
EE 152 1,520 0 1,520 10 0 0 0 1,512 0 756
RE 50 750 0 750 15 0 0 0 972 0 648
& 214 2,282 12 2,270
1103[ A 35 BmE 5 50 0 50 10 0 0 0 0 2,808 0
ED 5 50 0 50
1113|FEFEAS GD 13 130 0 130
1141|5848 mE 6 30 0 30 5 0 0 0 3,456 0 2,592
=) 3 30 0 30 10 0 0 0 1,944 0 1,728
& 9 60 0 60
1201|H % T 90 1,350 0 1,350 15 0 0 0 1,836 0 1512
& 90 1,350 0 1,350
1203[F ¥Ry [EH 655 6,550 0 6,550 10 0 0 0 2,700 0 1,998
EE 64 640 0 640 10 0 0 0 1,944 0 1,674
(&) 719 7,190 0 7,190
1204|G7R—)L [ ERE 10 100 0 100 10 0 0 0 0 1,620 0
GhH 10 100 0 100
1205[[FSNAE [EE 403 161 161 0 0.4 248 0 173 0 0 0
GhH 419 225 161 64
1207| B & [E)) 956 122 97 25
1209[B8 & GH 7 21 0 21
1223| &% EE 420 126 126 0 0.3 194 0 135 0 0 0
(&) 420 126 126 0
1301[#aF S 10 20 0 20 2 0 0 0 1,404 0 1,350
= E 440 132 0 132 0.3 0 0 0 173 0 162
=N 50 25 0 25 0.5 0 0 0 0 216 0
(&) 502 187 10 177
1321 [8R Tz 40 200 0 200 5 0 0 0 3,240 0 2,160
= 56 280 0 280 5 0 0 0 3,024 0 2,700
Eh 96 480 0 480
13B1E—<>  [= 600 78 0 78 0.13 0 0 0 124 0 113
Eh 611 133 0 133
1353| Tk =5 90 9 0 9 0.1 0 0 0 184 0 108
Eh 90 9 0 9
1401 |A Y ERE 10 20 0 20 2 0 0 0 2,592 0 2,376
Eh 10 20 0 20
1403 | KB = (&) 4 4 0 4
1501 | H & e 111 555 0 555 5 0 0 0 2,268 0 1,836
(&) 111 555 0 555
1541|ER dbifE 3 60 0 60 20 0 0 0 0 3,024 0
(&) 3 60 0 60
1603[ L) —  [EE 5 50 0 50 10 0 0 0 4,644 0 4,104
(&) 5 50 0 50
1609|Javal [#EE 3 18 0 18 6 0 0 0 0 3,024 0
F 33 198 0 198 6 0 0 0 3,672 0 2,916
Gh 36 216 0 216
1611[LAR (&) 9 75 0 75
1627[2=k=k  [&FJI 180 36 0 36 0.2 0 0 0 0 227 0
S 9 27 0 27 3 0 0 0 0 3,996 0
Gh 194 73 0 73
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1705| T A= =0 90 7 0 7 0.08 0 0 0 0 59 0
=0 6 24 0 24 4 0 0 0 0 3,456 0
GhH 96 31 0 31
1803 | E EE 720 72 0 72 0.1 0 0 0 151 0 119
=) 200 20 0 20 0.1 0 0 0 151 0 131
mE 150 30 0 30 0.2 0 0 0 239 0 66
GhH 1,070 122 0 122
1807|#8E E& 250 25 0 25 0.1 0 0 0 0 56 0
f=554 1,380 276 0 276 0.2 0 0 0 119 0 104
& 1,630 301 0 301
1809[L&L EH 500 50 0 50 0.1 0 0 0 0 75 0
E& 1,710 342 0 342 0.2 0 0 0 124 0 108
GhH 2,210 392 0 392
* S EEET * 18,055 28,237 705 27,532
221|2+ 55 2 20 0 20 10 0 0 0 0 7,128 0
% 36 360 0 360 10 0 0 0 6,804 0 5,616
(&) 38 380 0 380
2225| E#k (&) 15 150 0 150
2401 |[EH #fi =B 30 600 0 600 20 0 0 0 0 4,428 0
Eh 30 600 0 600
2811|& Ri& 20 5 0 5 0.25 0 0 0 0 648 0
(&) 60 15 0 15
2823 % —« (&) 5 20 0 20
* S FAET * 236 2,150 0 2,150




